5 UAB T — KRR AR IE TR (558 5) WiRIHME



W A
G 184 AL () 1 e AS (H) 1| MBS AL (BT © T
fifi FHIERTO%E M FE % At
| BRI ESEA S 111, 025 19, 818 130, 843
B BH
HAEGR
G e R e Wy
FlERRAR 130, 843 T — #IERTRE 111, 025FF 19, 818

- 130, 843, 0009 130, 843, 0009
(111, 025, 000F9 111, 025, 000F9)
q - FHIERTOEE Ml F %A i
A
(MBS EAS) 111, 025 19, 818 130, 843




CONRE - GH) 1" (H) 1#E2" (G =)
% fHIERTO%E foE % S I o =7 HH 4 [ A oo & Zz O — fi% M IR
O
IS PNGS=¢ 53,016 219 53, 235 219
[T 1] & # i e
2 Kokl 18
— AR 18 |#HIET44H 25, 106 T — #HERT&E 25, 088TH 18
+ 25, 106, 000 < 6 A%>> 25, 106, 0001
(25, 088, 000MH < 6 N57> 25, 088, 000F)
3IEEF Y% 172
MR (D 2 |#IERE%E 3, 258 TF — HliEri4E 3, 256 T 2
HARTY (D 30 |#HIEMS4E 6,930 TF — #HERTAE 6, 900TH 30
i T4 140 [#HIEFL%E 5, 106 TH — #HIERTEE 4, 965F M 140
4 Tt 29
TR B L & 2 fis 29 |FHIET4%E 9, 085 TF) — #lEri%E 9, 056 T 29
(— %)
q - FHIERTO%E i IF % it [ =7 (1 4 B e tho 75 & Z D — % B YR
GE=BD) 263, 453 219 263, 672 219
GO 2RE (JH) | s e (H) 1 —fErmg
% FHIERTO%E i IE % &t ] JoE =7 HH 4 B W& o5 & Zz O — fi% B R
N
S PN S 1, 268, 980 2,968 1,271,948 2,968
fii o HES & # G e
3BT Y% 1,185
HIAFY GFrrlio 4 | WIEPE%E 8, 938 TH — #lEmi%E 8, 934TH 4
Y 1, 181 |#HIFf&%H 73, 245 FH — #HERi4E 72, 064 TH 1, 181
4 LR E 1,783

B RSB W2k R




G 2 femE (JF) | s (H) 1 —fEmmg (BT © T
*x fHIERTO%E foE % H [] Jek 57 H 4 [ oo & Zz O — % B R
fii 7 Al & B e
HHTH R B & B 42 | FHIETSKE 4,656 M — WHERTAE 4, 614 T 42
CRERIED
Ml R E L H A B S 1, 741 | W IEE%EE 130, 475 TH — #HIERTAE 128, 734 TH 1, 741
(— %D
H fHIERTO%E fHFE % af [ Je 7 H 43 B o A5 & Z O — % BF R
(—EHE) 1, 345, 475 2, 968 1, 348, 443 2,968
G 2E CE) 2 MFiE (H) 1 Biiskens &
L <2 fHIERTO%E fhoE % &t [] Jek 57 H 4 I o5 & Zz O — % B R
[ONEE))
IS PNGS=¢ 283, 578 2,330 285, 908 2, 330
g e & # i e
2 Kokl 873
— RIS 873 |l E1%%H 133, 684 T — HliEATAE 132, 811 873
+ 133, 684, 000 < 4 3 A\%> 133, 684, 0001
(132, 811, 000 < 4 3 A73> 132, 811, 000F)
3 kB T4 1,415
MR (D 113 | #IEA%E 16, 581 T — MHERi4E 16, 468 T 113
HRTY (—fRei) 116 |#HIEf&%E 33, 730 T — #iERi4E 33, 614 T-H 116
Ty 1, 186 | #li1Ef4%H 26, 145 T — #lEAG4E 24, 959 1, 186
4 g 42
HHTHER B & A 42 | WIEPR%E A7, 082 T — HERGEE 47, 040 42
(— %1
. FHIERTO%E i IF % it [E] Jek 7 H 4 i - | Zz O — % BF 8
(BiSHaI5ED 283, 578 2,330 285, 908 2,330




G 2 femE (F) 3B EREABIKRE (H) 1 FEEREASIKRE
% fHIERTO%E foE % &t I o =7 HH 4 [ A oo & Zz O — fi% M IR
O
= PN = 138, 947 877 139, 824 877
[T 1] & # i e
2 Kokl 301
— AR 301 |#HIERLRE 69, 396 T — #HERGAE 69, 095TFH 301
* 69, 396, 000 << 1 8 N7 > 69, 396, 0001
(69, 095, 000MH <1 8 A53> 69, 095, 000F)
3 kB T4 376
MR (D 36 |#HIET44E 8,670 T — #HERIAE 8, 634 T 36
HRTFTY (—fRei) 117 | #ERR%E 17, 750 — #HErG4E 17, 633FH 117
i T4 223 |#IERREA 12, 532F M — #HiERiAE 12, 309FH 223
4 LR E 200
TR B L & 2 fis 200 |#HEF%E 23, 690 TF9 — HHiEniAE 23, 490TH 200
(— %)
q - FHIERTO%E i IF % it [ =7 (1 4 B e tho 75 & Z O — % B YR
(FET REABIRE) 219, 260 877 220, 137 877
GO 2RE (GH) 43 (H) 1 #EFEHEESH
% FHIERTO%E i IE % E ] JoE =7 HH 4 B W& o5 & Z O — fi% B R
N
S PN S 12, 559 85 12, 644 85
fii o HES & # G e
2 fakl 32
— RS 32 |#iIEM%%E 5, 704 TH — #iERT%E 5, 672TH 32
« 5,704, 000/ < 2 A5 > 5, 704, 000F4]
(5,672, 000 < 2 N73> 5, 672, 000F)
3 HRE TN 46

o
[\]
%
R
39
it



G 2 femE (GH) 4 3%% (H) 1 EXEMEES (G =)
*x fHIERTO%E foE % I o =7 HH 4 [ A oo & Zz O — fi% M IR
fii 7 Al A B e
MR (iR 4| WIERREE 757 — #WHERGAE 753 4
HRTY (R 8 | HEFR%H 1,567 T-F — #iERi4E 1, 559 TH 8
Ty 34 | #IERRRE 1,061 M — #iERTRE 1, 027TH 34
4 HEsg 7
HHTAER B & B HE T|WIERE%E 2, 451 — MERGAE 2, 444TH 7
(— %I
. FHIERTO%E i FE % [ =7 (1 4 B e - | Z O — % B YR
(EFEHEESE) 17, 491 85 17, 576 85
G 28 (JF) 5 et (H) 1 WatRaent
L2 FHIERGTO%E i I & ] o =7 HH 4 B H & SR - | Zz O — fi% B R
[ON5))
IHISPNGE=¢ 16, 806 129 16, 935 129
fii 7 AW A B e
3 e T 41
HimFY 41 | fHIEPR%E 1, 590 T — wHERi4E 1, 549TFH 41
4 HERE 88
THTATER B LA S S 88 |#HIE1%4H 2, 794 F M — wHiEriAA 2, 706 88
(—HED
. fH G OKH M FE & [ =7 (4 B e (& Z D i — % B R
(Mt aemss) 16, 862 129 16, 991 129




G 2 femE (JH) 6EAERED (H) 1E8E8%H
% fHIERTO%E foE % S I o =7 HH 4 [ A oo & Zz O — fi% M IR
O
IS PNGS=¢ 26, 686 345 27, 031 345
[T 1] & # i e
2 Kokl 187
— RIS 187 | fHIE#8%E 12, 917 — #HiERigE 12, 730FH 187
+ 12,917, 000 < 3 A\%r> 12,917, 000F4]
(12, 730, 000MH < 3 A5> 12, 730, 000F9)
3 kB T4 103
MR (D 23 | FHIETS%E 1,639 T — WHERi%E 1,616 T 23
HinTFY 80 | #filE/%%H 3,059 TH — #fiERi%E 2, 979TH 80
4 LR E 55
AR B LS S S 55 |#IEA&%E 4, 312TH — #ERT&E 4, 257 TH 55
(%)
a0 s FH IR OKE Ml IF % g [ i =7 (1 4 B e S - | Z D — % B Y5
BEABEREE) 28, 393 345 28, 738 345
G 3IEA#E (H) 1tk (H) 1t ket
% flERGTO%H i I & S ] =7 HH 42 B H & ST - | Zz O — % BF R
[N
iE1SPNGS-¢ 308, 211 1,673 309, 884 1,673
g HES & # G e
2 KOkl 543
— RIS 543 |FlE%E 150, 317TF — #HIERTAE 149, 774 543
- 150, 317, 000/ < 4 0 A% > 150, 317, 0009
(149, 774, 000 < 4 0 N53> 149, 774, 000F)
3BT Y% 1, 130
Ml (R T2 |#HIES4E 18,970 TH — #HiERTHE 18, 898TH 72

R KEHE ORI RAH




G 3IERA#E (JF) | e (H) 1 #Smute st (G =)
*H fHIERTO%E foE % S I o =7 HH 4 [ A oo & O — fi% M IR
i HMES & # G E3]
FhinFY 1, 058 | #1E14%H 29, 260 TH — #iERiTAR 28, 202TH 1,058
. FHIERTO%E i F % it )i Sdink B e AT | Dt — % B YR
(M= EAEETED 484, 557 1,673 486, 230 1,673
G 3IERA#E (JF) 1 ek (H) 5 EERHESE
E: o8 FHIERGTO%E i IE & S ] JeE =7 HH 4 B H & SR - | D — fi% B R
[N
IHISPNGE=¢ 37, 541 300 37, 841 300
g fmES & H B e
3 kBT 300
EhimTFY 300 | fHIFF8%E 3, 863 T — fHiEEi4E 3, 563 TH 300
. FHIERTO%E i IF % i [ =7 (1 4 B e tho 75 & DMt — % B YR
(ERFEEE) 44,035 300 44, 335 300
G 3IRA#E () 1 HEEuE (H) 7 EEEHA RS
% FHIERTO%E i IE % &t ] JoE =7 HH 4 B W& o5 & D — fi% B R
[CCEREEE))
] Rl R i HH < 967, 541 676 968, 217 676
fii o HES & # G e
28 #pH 4 676
] E AR R ORISR A 2R g 676 | fHI-T2%H 968, 217 TH — #IERiAH 967, 541FH 676

&

- RSB FRIES: 224, 584, 000M

(BG5S 223, 908, 000H

224, 584, 000
223,908, 000F)




G 3IERA#E (JF) | e (H) 7 EE{ER AR S
. fHIERTO%E ffi IFE % gl [] Jei <7 H 4 B e e AH Z O — % B YR
(] BH R LRI AR <) 967, 541 676 968, 217 676
G 3IERA#E (JF) 2 Rk E (H 1 AR B
L <2 FHIERTO%E ffioIE & B ] Jek 57 H 42 B W& o5 & Z O — fi% B IR
[ON=))
IHISPNGS=¢ 237, 943 1, 650 239, 593 1, 650
fii o HES & H B e
2 Fakl 107
— RS 107 | fHIEFR%E 115, 274 TH — #IERGAE 115, 167 T7H 107
« 115, 274, 000 < 3 2 A\7> 115, 274, 000F
(115, 167, 000 < 3 2 A5 > 115, 167, 000F)
3 HRE T 671
g Y (D 12 | #E%%E 14, 565 — fHERTAE 14, 553 FH 12
HAFY (D 37 |#HIEMS4E 30, 414 T — HHERT4E 30, 377 T 37
HinTFY 622 | fHIF18%E 22, 208 T — #HiEwi%E 21, 586 TH 622
4 LR E 872
AR B LS S B S 872 |l E18%E 40, 415 T — HhEauAE 39, 543 872
(— A%
. FH IR O%E Ml IF % gl [E] Jek 7 H 4 B e S - | Z O — fi% B Y5
(R R ED 1, 403, 291 1, 650 1, 404, 941 1, 650
G 3IERA#E (F) 2 WiEmake (H 3 WAL R B
k=3 fHERGTO%E ffi I & E ] o =7 HH 42 B W4 ST - | Zz D — % B R
[ON5=))
iE1SPNGS-¢ 694, 331 1, 183 695, 514 1,183
fii o S & # B e
3 HRE T 1,183
{3 RAEE




G 3IERA#E (B 2 ReEtEutg (H) 3 ReatEut izt (G =)
*H fHIERTO%E foE % S I o =7 HH 4 [ A oo & Zz O — fi% M IR
i HMES & H G E3]
FhinFY 1, 183 | #1E14%H 65, 157 TH — #iERiTAE 63, 974TH 1,183
. FHIERTO%E i F % it )i Sdink B e AT | Z O — % B YR
(RFERE AL R B 4, 862, 439 1,183 4, 863, 622 1,183
G 3IERA#E (JF) 3 EThfRiEE: (H) 1 EiSRERE
E: o8 FHIERGTO%E i IE & &t ] JeE =7 HH 4 B H & SR - | Zz O — fi% B IR
[N
IHISPNGE=¢ 140, 258 1,382 141, 640 1,382
g fmES & H B e
2 Fak 119
— AR 119 | W E%%E 66, 797 TH — #HIERG4E 66, 678TH 119
* 66, 797, 000 < 1 9 A7> 66, 797, 000F9
(66, 678, 000 < 1 9 A5> 66, 678, 000F)
3 HRE TN 1, 181
MY (D 24 | FHIET%%E 8, 293 M — fHEri%A 8, 269 24
HWAFY (% 68 |#HIEL4E 17, 2797 — fHERTEE 17, 211 68
HinTY 1,089 | W IE&%E 13,677 TH — #HERT4E 12, 588 TH 1,089
4 HERE 82
AR B Lk S S 82 |l IEA&%E 23, 921 — #liEAi4E 23, 839TH 82
(— %)
. flE R O%H ffi IF % it [ =7 (4 B4 LS I - | Z D — % BF JE
(TGRS ED 241, 107 1,382 242, 489 1, 382




G ONY - (FD) 1 B (HD) 1 (M e st
*H fHIERTO%E foE % &t I o =7 HH 4 [ A oo & Zz O — fi% M IR
O
= PN = 245, 156 342 245, 498 342
[T 1] & # i e
3BT Y% 342
Y 342 | WHIEAR%E 21, 974 — HlEwG4E 21, 6327FF 342
H FHIERTO%E fli E % it [ =7 (< Bl o AH Z O i — % B R
(R BB ED) 269, 867 342 270, 209 342
G ONY: - (B 2 75R#E (H) 1 iE R
*®H fHIERTO%E fhoIE % i I o =7 HH 4 I i oA & Zz O — fi% B R
O
ISP LS4 35, 891 205 36, 096 205
[T 1] & # B e
3BT Y% 144
HATY (D 55 |#HIEA44E 4, 763 T — WhHERTAE 4, 708 TH 55
T4 89 |FHIET4%H 3, 435 M — flEri%E 3, 346 89
4 HEE 61
THTATER B LA & i s 61 [#HIEMS4E 6, 111 — #WHERTAE 6, 050 TH 61
(— %)
. fHIERTO%E fl F % i [ =7 4 B o5 & Z O — % B U
ERFR%SED 35, 891 205 36, 096 205
GO 59 GH) 1 & (H) 1 9#sE
*H fHIERTO%E fhoE % S ] o =7 HH 48 [ o5 & Zz O — fi% M IR
[N
IS PNGE=¢ 8, 334 23 8, 357 23

F[IR RAERE B @ER BEGR ER




GO 59 GH) 1 EEsE (H) 1 9#hzEs (G =)
% fHIERTO%E foE % S I o =7 HH 4 [ A oo & Zz O — fi% M IR
i HMES & M B e
3 BT Y% 19
HimTFY 19 | #fiE%%E 756 TH — #fiERi%E 7371 19
4 HERE 4
THTATER B s S S 4| WIERRER 1, 457 — #ERGAE 1, 453FH 4
(— %%
q = fl R OKH Ml F & g [ =7 (4 B H4e LS I - | Z O — % BF R
(5 1EEEE) 17, 696 23 17,719 23
GR) 6 ERMokpESEE (B 1 s (H) 2 Bt
% FHIERTO%E i IE % i ] o =7 HH 42 L o5 fH Zz O — % B R
(O
E1SPNGS ¢ 24, 715 72 24, 847 72
[T 1] & # G e
3 BRE TN 61
il T4 61 |#HIET4%H 2, 283 F M — whEriAA 2, 222F 61
4 HEE 11
THTATER B L & 2 i S 11 | #EREE 4, 202 — #iEaG4E 4, 191TH 11
(— %
q - fHIERTO%E i IFE % i [ =7 (1 4 B e Hho 75 & Z O — fi% B YR
(ESERRTSED 24, 775 72 24, 847 72
G T GH) 1P 1% (H) 1 parsse
% FHIERTO%E ffioIE % S ] i =7 HH 4 B W& SR - | Z O — fi% W IR
[ONEEDD)
S PN S 47,559 264 47, 823 264




GO T GH) 1P % (H) 1 pa ke
fii o fmES & # i e
2 KOkl 36
— RIS 36 |FHIETL4E 22, 346 T — fHiERi%E 22, 310FH 36
- 22, 346, 000 < 6 N7 > 22, 346, 000F9
(22, 310, 000 < 6 N5> 22, 310, 000F)
3BT Y% 137
Ml (AR 5| #ERR%H 2, 883 T — #iEni4E 2, 878 TH 5
BRTY (R 9 | #IE#L%A 5, 940 — #liERGAE 5, 931F M 9
HinTFY 123 | fHIEP2%E 4, 407 TH — FHERTEE 4, 284TH 123
4 HERE 91
THTATER B LA S S 91 | WHIET%%A 7,941 — #HERGAE 7, 850 TH 91
(—fHED
g s FHIERTO%A fii E & g (] =7 (< B e o AH Z O — % BF R
(P AR5 ED 47,559 264 47, 823 264
GO 8 HAE (GE) 1 BAEME (H) 1 Akt
*H fHERTO%E oE % i I <7 HH <2 L oA & Zz O — fi% MR
[ONEED)
S PNGS ¢ 130, 998 744 131, 742 744
i e & H B e
2 Kokl 47
— RIS AT | fHIEFREE 63, 443 T — fHIERGEE 63, 396F14 47
- 63, 443, 000 < 1 6 A7> 63, 443, 000
(63, 396, 000 < 1 6 AN573> 63, 396, 000H)
3BT Y% 525
HARTFY (— R 17 | #Ef%%E 16,936 TH — #iiER14E 16, 919TH 17
Y 508 |#liEf%%A 12, 833 TF) — fliEmuA 12, 325TF 508
4 HEE 172

F[ok EE R EMUKESRER BT WM ILE WSk AR




G 8 AE (GH) 1 BAEME (H) 1| BRHE (G =)
*H fHIERTO%E foE % S I o =7 HH 4 [ A oo & Zz O — fi% M IR
i HMES & H G E3]
THTATER B L & i 172 | WHIERRRE 22, 2327 — MHERGEE 22, 060 172
(— %)
. FHIERTO%E i F % it )i Sdink B e AT | Z O — % B YR
(AR ED 161, 987 744 162, 731 744
G 8tAE (JH) 4 #Briatim e (H) 1 #Biahmiien e
E: o8 FHIERGTO%E i IE & &t ] JeE =7 HH 4 B H & SR - | Zz O — fi% B IR
[N
IHISPNGE=¢ 252, 307 1, 707 254,014 1,707
g fmES & H B e
2 Kokl 259
— RIS 259 | MIFET%%E 119, 777TH — #HIERTAE 119, 518FH 259
« 119, 777,000 < 3 2 A% > 119, 777, 000F9
(119, 518, 000 < 3 2 N57> 119, 518, 000F)
3 HRE TN 1, 101
MY (D 34 | FHIETLAE 15, 490 T — fHIERTEE 15, 456 T 34
HWAFY (% 36 |#HIE£%E 30, 153 T — fiERi4E 30, 117 36
HinTY 1,031 |#HIEE%E 23, 154TH — #HERTAE 22, 123TH 1,031
4 HERE 347
AR B Lk S S AT |l IEAR%E 42, 045 TF) — HhiEmuAE 41, 698 347
(— %)
. flE R O%H ffi IF % it [ =7 (4 B4 LS I - | Z D — % BF JE
(BRI EMHHRTSED 1, 423, 680 1, 707 1, 425, 387 1,707




G 8 AE () 50# (H) 1 {FEHE
K fHIERTO%E foE % H [] Jek 57 H 4 [ oo & Zz O — % B R
[ONEE))
= PN = 26, 753 16 26, 769 16
[T 1] & # i BH
2 Kokl 6
— RIS 6 | fHIE%%A 14,007 TH — #HERTAE 14, 001 6
* 14,007, 000 < 4 A\53> 14, 007, 000F4]
(14,001, 000 < 4 A5 > 14, 001, 000F)
3 kB T4 10
FARTFY (— R 1| flE%%EE 2,988 T — HhERi4E 2, 987 TH |
HinTFY 9 |HERRAE 2,027 T — #iERi4E 2, 018 TH 9
a0 fHIERTO%E M FE & gt [ o <7 < B o AH Z O — % BF R
(FEEHE) 144, 395 16 144, 411 16
GhH 10558 () 1 BHERGE (H) 2HEBRE
K fHIERTO%E foE % At [] Jek 57 H 4 [ oo & Zz O — % B R
[ONEE))
S PNGS=¢ 203, 897 991 204, 888 991
[T 1] & # i BH
2 Kokl 228
— RIS 228 |#IF1%%E 89, 417TFH — #HIERiAE 89, 189TH 228
+ 89, 417,000 < 2 1 N7 > 89, 417, 0004
(89, 189, 000MH < 2 1 AN53> 89, 189, 000F)
3 kB T4 613
S 1)) 27 |WHIERR%E 11,904 T — #hHEmi4E 11, 877 TH 27
HARTY (Renlli) | | flE%%E 3, 792 — #liEridd 3, 791 1
BRTY (R 91 | WHET%%A 24, 668 T — HFHIERTAE 24, 577 T 91

FHER EAE IR AFHE




G 10558 ) 1 BHERGE (H) 2H®RE (G =)
% fHIERTO%E foE % S I o =7 HH 4 [ A oo & O — fi% M IR
i HMES & # G E3]
T 494 | WHIEAR%E 18, 164 T — MHIERGAE 17, 670 T 494
4 HERE 150
TR E LA B S 16 | #1E&%E 2, 120 — #HiERTAE 2, 104FF 16
CRER )
THTATERE LS A S 134 | W EA2%E 31, 836 T — fhEnidd 31, 702 134
(— %
a0 fH R OKE M IF % it [ =7 (4 B e S I - | D th — % BF Y5
(FHERED) 206, 881 991 207, 872 991
G 10&#58 () A8 ET (H) 18 EREE
% FHIERTO%H foIFE % it I =7 HH 42 B H & ST - | D At — % B R
[N
ISP ES - 330, 337 267 330, 604 267
g fmES & # G e
R B 267
T4 267 |#iIE#R%A 29, 178 FF — #liEri%E 28, 911FH 267
q FHIERTO%H Ml IF % it [ i =7 (4 B e S - | Dt — fi% B Y5
GEEHERBE) 348, 336 267 348, 603 267
G 10#58 (JH) 5 MG (H) 2%kHaBt
% fHERGTO%E ffi I & it ] o =7 HH 42 B W4 ST - | D At — % B R
[N
iE1SPNGS-¢ 273, 239 1, 370 274, 609 1, 370
fii o S & # G e
2 KOk 18




G 10558 ) 5 MR EE (H) 2%k Re
— AR 18 | M Ef44H 135, 876 T'H — #HIERGAH 135, 858 T-H 18
+ 135, 876, 000/ < 3 3 A%> 135, 876, 0001
(135, 858, 000 < 3 3 AN53> 135, 858, 000F])
3 kB T4 954
Ml T (D 2 |#IERR%E 17, 040FF — fiERi&E 17, 038 2
HRTY (R 237 | #IE1%%E 36, 419TH — #ERiAE 36, 182TH 237
Ty 715 |#HIETZAR 26, 447TH — #IERTER 25, 732FH 715
4 HEsg 398
HHTAER B & B HE 398 |#HIE12%E 46, 569 T — MHERGAE 46, 171TH 398
(%
. FHIERTO%E i FE % it [ =7 (1 4 B e - | Z O — % B YR
(HERHERED 1,202, 230 1, 370 1, 203, 600 1, 370




